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A knot diagrarrﬂ

Ideals for irreducible component#ﬂ)f Xpar

(WP =20 4 b+ 1~ P a3, W =205 4 Bu - 1)
b, =’ +a—u—1, v>+u + 2> +u? +u+1)

* 2 irreducible components of dim¢ = 0, with total 61 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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I.
It = (u5 —2ub*+- .-+ b+1, —uS*+u¥+..-+a+3, u®—2u®+...+5u—1)

(i) Arc colorings

o ()

a5 =

1
a6 = _u2

ayp =

az =

ag =
—u — 209 — 207 —u?
aq =

—u' =3 — AT —uS U Fu

—u54+u53+---+u—2)

(
(
(
(
ar = (us +2u8 + 2u
(
(
(
(
(

ag = \u® —2u% +... —3u+1
ud
a1l = \ud+u
—uSt w0 oy — 2
a0 = \u®0 + 8u? + ... —u? + 2u
—uSt + w0 4y — 2
a0 = \u?0 + 8u?® + ... —u? + 2u
(ii) Obstruction class = —1
(iii) Cusp Shapes = 4u’® — 11u%* + -+ — 30u + 15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs wl -2+ Bhu—1
C2 u® 4+ 30u - —Bu+1
€3 u® — 6u® + -+ 2207u + 61
Cq,C8 wPl P = T2 + 32
C6, C11 u® 420 o — 117w — 17
c7,Cy, C10 W+ 6u® 4+ —Bu—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs y*% +30y°° +--- — By + 1
C2 y*0 — 6y + - — 93y +1
€3 y*S +18y%° + .- — 3978053y + 3721
C4, C8 y°% —33y°° + ... — 4608y + 1024
6, C11 y°% — 42¢°° + ... — 3965y + 289
C7, €9, C10 y*® — 54y + ... — 15y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape
uw = —0.541939 + 0.8113057
a= 142851+ 1457711 2.81877 — 4.588541 7.32192 + 7.370691

b= —1.123670 + 0.2662611

uw = —0.541939 — 0.8113051
1.42851 — 1.457711
b= —1.123670 — 0.2662611

a =

2.81877 4 4.588541

7.32192 — 7.370691

u = —0.593449 + 0.8516971
a = —1.01997 — 1.809071
b= 1.38769 — 0.526891

9.36273 — 8.196311

9.19540 + 7.010311

u = —0.593449 — 0.8516971
a = —1.01997 + 1.809071
1.38769 + 0.526891

9.36273 + 8.196311

9.19540 — 7.010311

0.546314 + 0.7696441
0.992511 — 0.3785371
0.058951 — 1.1533901

5.03153 + 2.198781

8.69192 — 3.709811

0.546314 — 0.7696441
= 0.992511 +0.3785371
= 0.058951 + 1.1533901

5.03153 — 2.198781

8.69192 + 3.709811

0.128995 + 0.9289351
= —0.49469 — 1.360461

—1.44134 4 1.726321

—2.72624 — 5.242591

0.128995 — 0.9289351
—0.49469 + 1.360461
—0.698724 4 0.3920961

—1.44134 — 1.726321

2.72624 + 5.242591

—0.618401 + 0.6778841
0.634942 + 0.4657651
= —1.39776 — 0.458491

9.85976 + 3.461571

10.53207 — 0.666521

= —0.618401 — 0.6778841
= 0.634942 — 0.4657651
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b= —0.698724 — 0.3920961
u
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b

w

a

b

u

a

b= —1.39776 + 0.458491

9.85976 — 3.461571

10.53207 + 0.666521




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.536957 + 0.7214981
a=—1.33171 — 0.639041
b= 1.094330 4 0.1570581

3.07741 4 0.226941

8.69395 — 0.015471

u = —0.536957 — 0.7214981
a = —1.33171 + 0.639041
b= 1.094330 — 0.1570581

3.07741 — 0.226941

8.69395 4 0.015471

u= 0.393541 + 0.8062131
a = —0.534427 4 0.1360821
b = —0.100768 4 0.4609781

—0.09593 + 1.711111

—0.21296 — 4.361381

u= 0.393541 — 0.8062131
a = —0.534427 — 0.1360821
b= —0.100768 — 0.4609781

—0.09593 — 1.711111

—0.21296 + 4.361381

u = 0.165097 + 1.1073401
a= 156163+ 1.185201
b= 1.2228704 0.3585121

3.95584 4 4.043311

3.44250 — 3.736401

u = 0.165097 — 1.1073401
1.56163 — 1.185201
b= 1.222870 — 0.3585121

3.95584 — 4.043311

3.44250 4+ 3.736401

0.819442 + 0.1782801
a = —0.357670 — 1.2532801
b= 1.31600 — 0.636271

5.92889 — 9.277471

7.55643 + 5.32356.1

u= 0.819442 — 0.1782801
a = —0.357670 4 1.2532801
b= 1.31600 + 0.636271

5.92889 + 9.277471

7.55643 — 5.323561

u = —0.837877
a= 0.756831
b= 0.948658

0.628307

8.59010

u= 0.775248 + 0.1607841
a= 0.738440 4 1.1578501
b= —1.121220 + 0.4480451

—0.03936 — 5.215071

4.57400 + 5.375821




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= 0.775248 — 0.1607841
= 0.738440 — 1.1578501
= —1.121220 — 0.4480451

—0.03936 + 5.215071

4.57400 — 5.375821

= 0.527916 + 1.0938201
= 0.85567 + 1.311511
1.41225 — 0.219411

6.18656 + 2.951291

0.527916 — 1.0938201
0.85567 — 1.311511
= 1.412254 0.219411

6.18656 — 2.951291

= 0.406423 + 1.1489001
= —0.206924 + 0.2400721
= —0.945829 + 0.2942511

—2.27409 + 3.176031

= 0.406423 — 1.1489001
= —0.206924 — 0.2400721

—2.27409 — 3.176031

= —0.373696 + 1.1623201
= 0.11056 + 2.440911
= —0.376968 + 1.0396101

—1.226340 — 0.6739361

= —0.373696 — 1.1623201
= 0.11056 — 2.440911
= —0.376968 — 1.0396101

—1.226340 + 0.673936.1

= 0.696924 + 0.3341131
= 0.495506 + 0.0670971
= —1.378520 — 0.3060671

8.39220 + 1.731451

10.27072 — 1.130531

= 0.696924 — 0.3341131
= 0.495506 — 0.0670971
= —1.378520 + 0.3060671

8.39220 — 1.731451

10.27072 4- 1.130531

= —0.741697 + 0.1746101
= 0.470285 — 0.8323981

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= —0.945829 — 0.2942511
U
a
b
U
a
b
U
a
b
]
a
b
U
a
b= 0.280634 — 1.1197901

2.61340 + 2.945061

6.64873 — 2.479141




Solutions to I

V=1(vol + v=1C)

Cusp shape

= —0.741697 — 0.1746101
= 0.470285 + 0.8323981
= 0.280634 + 1.1197901

2.61340 — 2.945061

6.64873 + 2.479141

—0.126536 + 0.7464581
—0.84177 + 2.112951
0.411324 + 0.4772151

1.064190 — 0.8086931

2.55500 — 2.426251

—0.126536 — 0.7464581
—0.84177 — 2.112951
0.411324 — 0.4772151

1.064190 + 0.8086931

2.55500 + 2.426251

0.369831 + 1.1884401
0.956977 — 0.9111041
1.068040 — 0.5022741

—4.02517 — 1.427311

0.369831 — 1.1884401
0.956977 +0.9111041
1.068040 + 0.5022741

—4.02517 + 1.427311

—0.749356 + 0.0643811
—0.349458 4- 0.5363261
—0.335252 4 0.6431041

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

—2.43135 + 0.936711

—0.980703 — 0.8616981

u = —0.749356 — 0.0643811
a = —0.349458 — 0.5363261
b= —0.335252 — 0.6431041

—2.43135 — 0.936711

—0.980703 + 0.8616981

u = 0.495429 4 1.1558401
a= 0.25566 —1.707291

b= —1.092030 — 0.1732251

—1.62056 + 4.941241

0.495429 — 1.1558401
0.25566 + 1.707291
b= —1.092030 + 0.1732251

u =

a =

—1.62056 — 4.941241

u = —0.424253 4 1.1894801
0.12864 — 1.605261
0.405838 — 0.6946491

a =

b=

—6.03353 — 3.185101




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.424253 — 1.1894801
0.12864 + 1.605261
0.405838 + 0.6946491

—6.03353 + 3.185101

0.347664 + 1.2167001
= —1.59497 4 1.080121
—1.263120 + 0.6299801

1.65628 — 5.421171

0.347664 — 1.2167001
—1.59497 — 1.080121
—1.263120 — 0.6299801

1.65628 + 5.421171

—0.509728 4- 1.1662801
—1.69077 — 1.446661
—0.328834 — 1.1739901

—0.26647 — 7.634091

—0.509728 — 1.1662801
—1.69077 + 1.446661
= —0.328834 + 1.1739901

—0.26647 + 7.634091

—0.476321 + 1.1858701
1.13864 + 0.868021
0.294208 + 0.7023361

—5.66376 — 5.434421

—0.476321 — 1.1858701
1.13864 — 0.868021
0.294208 — 0.702336.1

—5.66376 + 5.434421

0.513303 + 1.1790501
—0.19445 + 2.457531
1.158800 + 0.4796201

—3.01871 + 9.993201

0.513303 — 1.1790501
—0.19445 — 2.457531
1.158800 — 0.4796201

—3.01871 — 9.993201

0.680569 + 0.1637031
—1.128560 — 0.5861891
= 0.997782 — 0.1052661

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

1.216130 — 0.4457461

7.76853 4 0.076141




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = 0.680569 — 0.1637031
a = —1.128560 + 0.5861891
b= 10.997782 + 0.1052661

1.216130 4 0.4457461

7.76853 — 0.076141

u=0.529749 + 1.1898407
a = —0.08999 — 2.820611
b= —1.31987 — 0.670181

2.9322 + 14.24221

u=0.529749 — 1.1898401
a = —0.08999 + 2.820611
b= —1.31987 + 0.670181

2.9322 — 14.24221

u = —0.455869 + 1.2292501
a = —1.46012 + 0.801061
b = —0.906346 + 0.0520671

—3.05418 — 4.605781

u = —0.455869 — 1.2292501
a = —1.46012 — 0.801067
b= —0.906346 — 0.0520671

—3.05418 + 4.605781

u= 0.341383
a = —1.70182
b= 0.611698

1.00387

10.1330
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IL. I = (b, v +a—u—1, v +u*+2u®> +u? +u+1)

(i) Arc colorings

o ()
)

a5 =

ag =

(o

()

(usi‘u)

(i)
o= (50)

("

(

(

=

("

ayp =

asz =

wHu+1
ag =

)

Uu —|—u+1)

ayq =

ud
u+u

u +u +u+1)

aio = ud +u

ud+u? +u+1
a1 = ud+u
(ii) Obstruction class =1

(iii) Cusp Shapes = —2u* — 7u?® — 8u? — 6u
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1 wWeut 2 - +u—1
C2 W3t Al 4wt —u—1

c3,Cq wWout =20+l tu+1

Cy4,C8 u5
€5 wWrut+ 20 el +u+1
7 (u+1)°

Cg, C10 (u — 1)5

c11 wWut -2 — P tu—1

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,¢5 3yt A+t -y -1
€2 v -yt 8y — 3y +3y—1
€3, €6, C11 v’ =5yt +8y° =3y —y—1
Cq,C8 ys
5
C7,C9,C10 (y - 1)

13



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.339110 + 0.8223751
0.77780 + 1.380131
b= 0

1.31583 + 1.530581

6.99101 — 6.236731

u= 0.339110 — 0.822375]
0.77780 — 1.380131

1.31583 — 1.530581

6.99101 + 6.236731

b= 0

u = —0.766826

a= 0.821196 —0.756147 2.36160
b= 0

u = —0.455697 + 1.2001501
a = —0.688402 4 0.1063401
b= 0

—4.22763 — 4.400831

—1.17182 + 3.023101

u = —0.455697 — 1.2001507
a = —0.688402 — 0.1063401
b= 0

—4.22763 + 4.400831

—1.17182 — 3.023101

14



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
! (u® —ut + 203 —u? 4 u—1)(u®® — 20 + -+ 5u—1)
C2 (u® + 3u* + 4u® + u? —u — 1) (u® + 30u®® + - — 5u+ 1)
C3 (u® —u* — 2u® +u® 4 u + 1) (u® — 6u°° + - - + 2207u + 61)
¢4, Cg u® (u®S + u® 4 - — 720 4 32)
& (u® 4+ u* 4+ 2u® +u? +u+ 1) (U =20 + -+ 5u—1)
6 (u® —u* = 2u® +u? +u+ 1) (W +2u% + - = 117u — 17)
¢ (u+1)%)(u®® 4 6u® 4 -+ — bu — 1)
¢y, C10 ((u—1)5)(u56+6u55+~-~—5u71)
c11 (u® +u* —2u® —u? +u— 1)’ + 20 4 - — 117u — 17)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cs (v° +3y* +49° +y* —y = 1)(y° + 30y +--- =5y + 1)
cC 5 4 3 2 56 55
2 (v>—y*+8y° =3y +3y— 1)(y° — 6y +---—93y+1)
C3 (y° — 5y* +8y> — 3y? —y — 1)(y°° + 18y + - -- — 3978053y + 3721)
€4, Cs v (y°% — 33y°° + .- — 4608y + 1024)
C6,C11 (y° — 5y* + 8y® — 3y? —y — 1)(y°° — 42¢°° 4 - - — 3965y + 289)
¢7, €9, C10 ((y = 1)°)(y*° = 54y> +--- — 15y + 1)
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